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gds generation position
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@ volume =" /dd/Structure/AD/db-gdsl”

@ positioner.Strategy = " FullVolume”
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lav generation position

Generation Vertex R-Z
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@ volume =" /dd/Structure/AD /db-iavl”
@ positioner.Strategy = " AvoidDaughters”
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Iso generation position
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@ volume =" /dd/Structure/AD/db-lIsol”
@ positioner.Strategy = " AvoidDaughters”
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oav generation position

Generation Vertex R-Z
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e volume =" /dd/Structure/AD/db-oavl”
@ positioner.Strategy = " AvoidDaughters”

@ top right OK in R-Z plot?
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@ volume =" /dd/Structure/AD/db-oill"

@ positioner.Strategy = " AvoidDaughters”
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ade generation position
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@ volume =" /dd/Structure/AD/db-adel”
@ positioner.Strategy = " AvoidDaughters”

Daya Bay July 5, 2009 7/15



pmt generation position

Generation Vertex R-Z
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@ volume =" /dd/Structure/AD/db-oill"
@ positioner.Strategy = " VolumeType”
o positioner.FillVolumes = [’ lvPmtHemiVacuum”]
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Generation Vertex R-Z
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Iws generation position

Generation Vertex R-Z

Generation Vertex X-Y
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@ volume =" /dd/Structure/AD /db-iws1"
@ positioner.Strategy = " AvoidDaughters”
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curtain generation position
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@ volume =" /dd/Structure/AD /db-curtainl”
@ positioner.Strategy = " AvoidDaughters”
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ows generation position
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@ volume =" /dd/Structure/AD/db-ows1”
@ positioner.Strategy = " AvoidDaughters”
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rpc generation position
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@ volume =" /dd/Structure/AD /db-rpcl”
@ positioner.Strategy = " AvoidDaughters”
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rock generation position
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@ volume =" /dd/Structure/AD /db-rockl”
@ positioner.Strategy = " AvoidDaughters”
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Generation Vertex X-Y
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